A mintavétel hatasa az idétartomanyban (Mathcad) :
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1 .
t:=0,.01.2 sample_rate :=5 At=—— i:=0.1C
sample_rate
signal (t) := cos (2~n‘t) + COS (8-n.t) + cos(lz.n-t)
points . := signal(i.At) alias(t) := 3-cos(2-m-t
! mert cos(-x) = cos(x)
3 4
- Megjegyzés:
27-(i/5),
signak(t)
alias(t) 8n-(i/5) = 2mi - 2x-(i/5),
points; 12x-(i/5) = 2mi + 2w-(i/5)
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2:
signal (t) := sin(2~n~t) + sin(8-n-t) + sin(12-n-t)
oints . := signalli-At alias(t) := 1-sin{2-w-t
points ;= signal(F-At) ® ( mert sin(-x) = - sin(x)
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signak(t)
alias(t)
points;
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3: Nyquist voodoo:

signal (t) := sin(2~n~t) + sin(8-n-t)

oints . := signal {i-At
points; = signal ) mert sin(-x) = - sin(x)

1.928, 2 . z
Megjegyzes:
csak két komponens

1
signak(t) 27w-(i/5),
alias(t
i) o 87-(i/5) = 2mi - 2m-(i/5)
points;
ooo
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4:
signal (t) := sin(2~n~t) + cos(8-n~t)
L2J
signak(t)
alias(t)
points;
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